Test One

PERTH MODERN SCHOOL  Semester One 2018
~ UNIT 1 METHODS

Calculator Assumed 40 minutes /45 marks

Scientific Calculator, ClassPad, Formula Sheet and
One page one side of A4 notes is permitted
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Place a tick in the box next to your Mathematics teachers name:
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Question 1 (2, 2, 2 = 6 marks)
xrY = 9
Consider the following points, A (4,9) and B (20,12).

i) Determine the exact distance from point A to B.
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i) Determine the midpoint between points A and B.
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iii) If point B was the midpoint of points A and point C. Determine the coordinates
of point C.
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(2,2,1, 3 =28 marks)

Question 2
)
) and :

.
Determine the equation of a line that passes through the point (=10, 3
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1ii) is parallel to the y axis.
= =10 /

iv) is perpendicular to the line x — 4y = 9.
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Question 3 (2, 3, 3 = 8 marks)
Consider the line 5x + my = 21, where m is a constant.
i) In terms of m , determine the y intercept.
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ii) In terms of m , determine the midpoint of the x and y intercepts.
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iii) Determine the value of m so that the line will never cross y = 7x.
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Question 4 (1,1,2 =4 marks)

Jessica needs to hire a car for a number of days. The hire car company has two options from
which she can choose.
Budget: $15 per day plus $0.25 per km travelled

Deluxe: $42 per day for unlimited travel

i) Jessica will hire the car for n days and drive a total of x km.

a)  Find an expression for the cost, $C, in terms of » for the Deluxe option.
———

c=42~/

b)  Find an expression for the cost, $C, in terms of » and x, for the Budget option.

L= 55 ¢ Chdb o /

i) If Jessica plans to drive a total of 600 km, find the maximum number of days for which

she can hire the car so that it is cheaper for her to take the Deluxe option. Z(. 2
/ F y éoo x5

Jan < 150+ 0:35(00) / 25

I7s £ 150
n < 555
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Question 5 (2, 2, 2 = 6 marks)
Factorise the following expre

i) 4x%y — 12xy*

49(67 b 3J)

e
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= (x- 31%13)61 3) 'X'?’) (X+3)

18x2% + 33x — 30

= 3 (3'x—- a)(;zpuS) //
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Question 6 (5 marks)

On the axes below, sketch the parabola y = —2(x + 3)? + 6 showing all major features such
as line of symmetry, turning points, x intercepts (if any).
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Question 7 (2, 2 =4 marks)
For each of the following write down the equation of a parabola that satisfies the following:

(No need to simplify)
= s 2 3 p [ D

i) A quadratic with intercepts (4,0) and (—7,0) with a y intercept of (0, -56).
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ii) A quadratic with a maximum turning point (7,1) and an x intercept (10,0).
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Question 8

Determine the value of x for the shape below.

8cm

A

10cm

(4 marks)
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